


Agenda: -
Anders

- Recapping material for Exam2 -> Decoders(Encoders
-> General complements ↓ Multiplexers(Demultiplexers

- sequential -> Nonidealities

&Exum : Out 17th- Oct 19th

Up next:
- Number systemsI

- State Machines
I

-> Building blocks
- Latches
- Low-level

Exam guidelines :

-> please do not collaborate on the first pass
· Generative Al-let me know how you

used it(ifyou did

- you're responsible for the output

Recap: Decoders

-> Turns binary input into the index of an output signal in baselo
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Multiplexers - Selects one of many inputs

e.g. 4-
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Relationship between Decoders & Multiplexers
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Example : It 8 De multiplexer

Ao E
Ao + As =

9Al-
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A- X-F = ?

E
Ao = X . T .E Ag = X : y - 7

As= X - / :z Az = XYZ

F= w +qAz + AA

4. = Kyoz) · (xy 7) + Fo ·F + Xoy ·F
DeMorgan= (X + Y+ 2) · (X +y +E) + y j.z + Xy
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It's Complement Question (Challenge Question)

X = (Pn-Dr---- DiDo)b=b
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